RUTFE F10 RERMAERSITOTIS A (B

pEtEENs : BAltE 8R238 (&) 13KB30DK0D
(2413000 ~)

Fﬁ{ﬁis—ﬁ . IKZJ\E% %jbi@ﬁ%‘éﬁaﬁj 5%1/%11[‘ EE%E
AERPT i amEERARI-1-1 WASESEFEBRF)

— B = 13 : 30
— B & B ¥ OB 13:30 ~ 13 : 35
— B9 E B 1 % 5 %}ﬁﬁﬁjﬁ’—»@cﬁﬁ%? 13135 ~ 13 : 40
— & 8| A =
©0- ot RS 19540~ 1405
@ ISRy R (GlasGrid®) ) P=0INS 14 : 05 ~ 14 : 30
17N o] (10
@ 57U—RPILE HHRBRTE B 1505 ~ 15 30
® CMEBARUEZBIRRYI 2L —5— REFREE (KR 15:30 ~ 15: 55
® EBRIOIRTY )y REFT VIR ) A#F~> 15:55 ~16: 20
@ BEMBIPLIRE A ES (1K) 16: 20 ~ 16 : 45
B 5 K ¥ gl 16 : 45 ~ 16 : 50

XBEAXRDODFHDBEBOPICE, BRIEEOSDESHEI,
XARBEFDBREICKD., FEFBICZDORENMELCDCEETTERRBENET,



